381/Eco.  UG/rd Sem /ECOH-CC-T-VII/19

U.G. 3rd Semester Examination - 2019

ECONOMICS
[HONOURS] -
| Course Code : ECOH-CC-T-VII
Full Marks : 60 . Time : 2% Hours

The figures in the right-hand margin indicate marks.
Candzdates are required to gzve their answers in

their own words as far as pmcz‘zcable

J/ Answer any tem questions: | ' 2>< 10=20
(-G i e T e 3 -
,g,/{) " Define an 'independent event'.
ol TR DA S|
, P/15) Define 'Standard Normal Vanable
| ‘@W‘f “aﬁﬁ?ﬁ b—cﬁs 47 TS cm |

c) IfX=a+DbY, show that E(X) a + bE(Y)
X =a+ bY@,f@ ordte @B(X)=a+ bE(Y).

d) What aré, the propefti‘es- of a probability
distribution function F(X)?

MG TG SATFS F(X)fél?I et e
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State the ‘Weak Law of Large number’

‘Weak Law of Large number’{t @4

What is the probability mass funciion of »
discrete random variable?

G5 ifors TR 5o14 pm. £ 5 (o4

What' is consistent estimator?
ROl AT PRI AT 2

What is meant by interval estimation of
Parameters?

FefeIo1-a7 e At o1 6 Gl 2

D’istinguiéﬁ'between population and sample
survey.

mﬁweﬂ°{ﬂ§mﬁﬂm9ﬁ®W|

What do you mean by 'Simple Random
Sampling'?

| T ITPTEY T[APRAT PRI I 2

Distinguish between Parameter and Statistic.
et R SRS~ S S{12w 4|

Explain the concept of Minimum Variance

Estimator.

T &Fael AFFETE-aF el T |
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m) Distinguish between Standard Error and Standard

Deviation.

i @l @3 wief Ripfo-a31 s sl

\9/ State two limitations of classical definition of
Probability. |

o TR &poi viceara 6 SREet G|
.9)  State the Central Limit Theorem.

| @@afﬁmi@wﬁ @ |
L} Answer any four questions: 5x4=20

I DI el B e 2
Va’)/ A and A, are two events related with an

| . ;- 1 1
experiment. Given P(A1)=E’ P(A2)=§ and

. | » |
P(AlmA2)=Z determine the following
Probabilities. |
a5 TR siTwE 7T AT o A, 9w A

o o o
RG] P(A)=7 P(A)=3 4R P(ANA)=7 &

o R TSt e e
i) P(AUA,) /1
iy P(AfuUAS) 74

. 2/ :
iii) P(AfUA,) 7 1+1+3
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Distinguish between simple random sampling
with replacement and simple random sampling

without replacement with an example.

Ao AZ TG T FREAR @ -8 EF| [+ 777
ST A ARETRR K SrEde TRANCo! =112l 777 |

State and‘prpv}c:' Ba)}es' theorem of Probability.

Bayes ~4% TSI ©GIL g9 @R &l |

 Find the mean and variance of Binomial

distribution. -~ = |
ot TG 918 6 Covanie) foefey <551 |
Discuss the different.properties of 2 good

estimator.

G T wgﬁmhmﬁwwl

In case of SRSWR find E(X) and V(X)if X is a

random vari_able. | 2+3
SRSWR-4% (G M X @b STSim=il oo 2
o E(X) 9 VX) fdfa 11
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3/ Answer any two questions: - 10x2=20
@~ T8 @cda Sem i ¢

Define a Normal variable and discuss the

important properties of a Normal distribution.

2+8

a3 Normal 5e(ea Hew| w18 «dg Normal
Tt wwgsd il siEma w4

The :_}ife (in hours) of electronic tubes of a
certain type is supposed”to be normally
distributed with u=155 hr, c=19hr. What is the
probability that the life of a tube will be:

O YA QAo TR 51T ©NY 155 ToI(F2) G
(SUNI 9 93 NCF S THE NN PR T,
fAefeRe T Rt 39 ¢

i)  between 136 hr. and 174 hr.

WETE WY 136 93 174 92 W&
ii) be&een 1_17 hr. and 193 hr.
| AER R 117 9 193 2 W0y
iii) less than 117 hr.
T WY <117
iv) more than 193 hr.

R oY >193 W
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Discuss the Problem of Estirnation. Explain the
difference between point estimation and intervz]

estimation. | ‘ : &4

Rl AR e Sl i |

4

'brobab’il’ities that: s

A box contains 4 red ball$, 3 black balls and 5
white balls. Two balls are drawn one after the

other at random with replacement. Find the

th

G AT 4T i, 3 e @R 5B AW =

B 7, @ o1 @l AfeFIPIET TN B (e
= | WW'WWW T TR W

i)  both the balls are red;

ii) one is red and one white.

 @ofl ST 4R @B |




